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1. ^ 	éÙö�(power surge)-ñÇ	^, v9Î°×º	^Ý`Ñ�éÙö�Ý`

Ñ, xW×¢óλ�PoissonÄ��^ ©bÑ�ßõ��Ñ§, Ñ�ßõn¾^ Ý

`Ñ, xW×¢óµ�PoissonÄ��hÞÄ�'
}ñ�Ñ�ßõn¾`, u^ Î?

Ý, J�ñÇÒ�, ÍJ-Ñ§^ , �'Ñ§` �|E¯�ê'3` t = 0, ^

 Ñ3º»��N��` 0��, Ï100gÑ�ßõn¾, À�Ñ§^ Ýgó��

OE(N), Var(N), CE(N2)�

2. �0 < T1 < T2 < · · ·�×¢óλ�PoissonÄ�ÝÕ¾`Ñ�ê�N = inf{k|k > 1, Tk −
Tk−1 > T1}��OE(N)CE(TN − TN−1)�

3. 'b×¬^ , ãº»�ìgûÝ` b¼ó5µ, �TÂ
10�vû*-ñÇÑ�, Ñ

�` ü�
1�`�Ñ?¡^ º»B!ø5µÝ×ð` û*, Ahø�Æ���

'h�Ù�
�ÝP§ò��O

(i)^ ìË�`/
º»ÏV�^£;

(ii)�ìgû*Xm` ��TÂ�

4. 'bm¬^ }ñ2º»�N¬º»B×E(λ)5µÝ` ¡û*, B×E(µ)5µÝ` 

ÑÆ, êñÇ��º»�Ahø�Æ��'y` t = 0, m¬^ /3º»��O3`

 t, m¬/3º»�^£�

5. '{N(t), t ≥ 0}
×¢óλ�Poisson Ä���OÀ.úβt�5µ�

6. '{N(t), t ≥ 0}
×?±Ä�, vµ = E(X1) < ∞, Í�{Xn, n ≥ 1}�Õ¾ û�'E
Øü�ÑJón, E(γt|N(t) = n) = C, ∀t > 0, ©�P (N(t) = n) > 0, Í�γt
yõ.ú,

C > 0
×ðó��JC = µ, v{N(t), t ≥ 0}
×Poisson Ä�, ¬��¢ó�
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